CONTRACT INFO SHEET

Manroe County Division of Puichasing
200 County Office Building, Rochester NY 14614

DATE: DECEMBER 24, 2024
CONTRACT EXTENSION

BID TITLE: FASTENERS
CONTRACT #: 1102-22 (7700000137}
CONTRACT DATES: 12/31/2024 - 12/31/2025
BUYER: Catherine Shafer
PHONE: 585-753-1183
FAX: 585-753-1104
VENDOR(S): #11108425

Fasteners Direct

1720 Boulter Industrial Pkwy

Webster, NY 14580
CHANGES AS FOLLOWS: CONTRACT HAS BEEN EXTENDED THROUGH DECEMBER

XC: BPFOLDER
VENDOR
BUYER

31, 2025 with no changes.

Catherine Shafer
Buyer



CONTRACT INFO SHEET

Monroe County Division of Purchasing
200 County Office Building, Rochester NY 14614

DATE: December 7, 2023

CONTRACT EXTENSION
BID TITLE: FASTENERS
CONTRACT #: 1102-22 (7700000137)

CONTRACT DATES: 12/31/2023-12/31/2024 Ext #1

BUYER: CATHERINE SHAFER
PHONE: 585-753-1183

FAX: 585-753-1104
VENDOR(S) : VENDOR# 11108425

FASTENERS DIRECT

1720 BOULTER INDUSTRIAL PARKWAY
WEBSTER NY 14580

WESLEY PARR

CHANGE AS FOLLOWS: CONTRACT HAS BEEN EXTENDED THROUGH
DECEMBER 31 2024 WITH NO CHANGE TO PRICE.

H SU~

_.'I ..-v
méT;HERlNe SHAFER

BUYER

XC: BPFOLDER
BUYER
DEPT



CONTRACT DATA SHEET

Monroe County Division of Purchasing
200 County Office Building, Rochester NY 14614

TITLE:

CONTRACT #:

CONTRACT DATES:

BUYER:
PHONE:

VENDOR(S):

XC: BP FILE
BUYER
VENDOR

FASTENERS
1102-22 (7700000137)
01/03/2023-12/31/2023

CATHERINE SHAFER
585-753-1183

FASTENERS DIRECT
1720 BOULTER INDUSTRIAL PARKWAY

WEBSTER NY 14580

ATTN: WESLEY J PARR

ph: 585-265-1990

erine Shafer
Buyer



MONROE COUNTY Divislon of Purchasing

(o] 1] , R
BID PROPOSAL  County Office Bullding. Room 200

Rochester, NY 14814
(588) 753-1100

BID PROJECY Nuussa 1102 -22 BID TITLE: FASYENERS
BUYER: Catherine Shafer BID TIME:
PHONE: (3881 7531183 81D DATE: Tussday, Nove mber 20, 2022
BID SECURITY REQUIRED:  No:__X
Yes, in the amount of as specified herein
[ TEM | ESTIMATED | ' ]
AND/OR ANNUAL UNIT
. GROUPNO. | QUANTITY | __ARTICLES OR BERVICES 4 PRICE EXTENSION
1
- FASTENERS ' : ;.
|
} TOTAL FROM UNIT PRICE SHEET - s_B8s8 . oS

PLEASE SUBMIT ONE {1) ORIGINAL AND ONE (1)
COPY OF BID PROPOSAL AT NIME OF BID
OPENING |

i

) i 3 hinG E’;-_i;l‘ ’
I bave receivad, Ted and agree to the tarms snd conditions as sel Torth in Genera! Terms Counwmn.

and any specisl torms and conditions set forth In the General and Technical Bpecifications hersin. | have read, undetetand

gres to &fl Instructions to Bidders (including the Non-CoBusion Bidding Cenlficstion) on the reverse hersof. | heralry recognize -nd
ogres that upon execution of this documant by an euthorized officer of Monros County, that this document, together with the
cumr- bid e accwplad by Monros County snd all other documents prepared by or on behai of Monroe County for this bid

sollchation, shall becormnme the binding contract betwaen the parties for the servicas 1o be provided in accordance with the terme and
conditions sat forth herein.

ramname_foSene s Dicect  sioneoey :
apoREss _\ V2o BauMe _1_',;4 _5_%«4 erintepNaMe _buesdy 3 W

Lreloste,r tf |4 %__ e __Sales MenCol
FEDERAL DNO. 2l— 318l pHONENO.  (S0V) 2LS- 9% ©

E-MAIL ADDRESS \ueS Doy ©Lotdenes  FAXNO._CSES) 2LS - W8
- diceck . comn

SAP CONTRACT B(D ACCEPTANCE AND CONTRACT AWARD

The shove bid is accepted, except as noted, and I!:Eeonm |s awarded to you for the following item(s):

— U000 §|Z ENTIRE BID

Authorization to fumish suppliesiservices wilt be made via Purchase Order, as appropriate, signed by the

Monroe County Purchasing Manager, or designated agent. Contract peried from 1/03/2023_
to 12/31/2023

Date: 11312023 | By: C/E&W o (el .

Colleen D. Anderson, Purchasing Manager, Monroe County




CERTIFICATION REGARDING
DEBARMENT, SUSPENSION AND RESPONSIBILITY

The undersigned cerlifies, to the best of his’/her knowledge and belief, that the Contractor and its
principals:

1

Are not presently debarred, suspended, proposed for debarment, declared ineligible or voluntarily
excluded by any Federal department or agency;

Have not within a three (3) year period preceding this transaction/application/
proposalicontract/agreement been convicted of or had a civil judgment rendered against them for
commission of fraud or a criminal offense in connection with obtaining, attempting to obtain or
performing a public (Federal, State or local) transaction or contract under a public transaction;
violation of Federal or State antitrust statutes or commission of embezziement, thelt, forgery,
bribery, falsification or destruclion or records, making false slatements or receiving stolen
property;

Are not presently indicted for or otherwise criminally or civilly charged by a governmental entity
(Federal, State or local) with commission of any of the offenses enumerated in paragraph 2 of this
certification; and

Have not within a three (3) year period preceding this transactionfapplication/
proposalicontract/agreement had one or more public transactions (Federal, State or local)
terminated for cause or default.

CERTIFICATION REGARDING MONROE COUNTY PROCUREMENT POLICY
AND CONSEQUENCES FOR VIOLATION

The undersigned certifies, to the best of histher knowledge and belief, that the Contractor and its

principals:

5. Have read and understand the Monroe County Procurement Policy and agree to abide by its
terms {hitp://www2.monroecounty.gov/purch-overview.php);

6. Understand that any violation of the Monroe County Procurement Policy may result in the
exclusion of any response to a public bid, Request for Proposals (RFP) or Request for
Qualifications (RFQ) submitted on our behalf; and

7. Understand that any contract or agreement enterad into subsequent to a violation of this policy
during the procurement process is null and void.

pate: _12[22{202% Fasteres Divect, Inc

[Print Name of Contractor)

By:

Daniel W Palr

[Print Name]

CFO
[Print Title/Cffice)

Revised 10/3/2013



MONROE COUNTY EQUAL PAY CERTIFICATION

The undersigned certifies, to the best of his/her knowledge, that the Contractor:

1

Compensates its employees in compliance with the Federal Equal Pay Act, 29 USC § 206, and the
New York State Labor Law § 194, as amended from time to time ("Equal Pay Laws").

Has not been subject to an adverse finding by the United States Department of Labor, New York
State Department of Labor or a court of law with regard to the Equal Pay Laws within the previous
five years (*Adverse Finding"). If the Contractor has been subject to an Adverse Finding, the
Contractor shali immediately disclose in writing the outcome and circumstances of such Adverse
Finding to the County Purchasing Manager at ihe following address: Room 200, County Office
Building, 39 West Main Street. Rochester, New York 14614,

Is not the subject of any currently pending ¢laims involving the Equal Pay Laws. If the Contractor
is the subject of any currently pending claims involving the Equal Pay Laws, the Contractor shall
immedialely disclose in writing to the County's Purchasing Manager the nature and status of such
claims.

Acknowledges that the violation of one or more of the Equal Pay Laws or its filing of a false or
misleading Monroe County Equal Pay Certification during the term of the Contractor's agreement
with Monioe County may constitute grounds for the County in its sole discretion to immediately
terminate such agreement with the Contractor and for determining the Contractor to be not qualified
to participate in fulure Monroe County contracts.

Acknowtedges that the Contractor wilt cooperate with the Counly's compliance monitoring and
periodic auditing of Certifications provided by the Contractor to the County.

oot 12[20[2022 fosteners Direct, Inc.

[Print Name of Contractor)

By:

Donel W Parr

[Print Name)]

CFO
[Print Title/Office]

91412020



UNIT PRICE SHEET

BP1102.22
FASTENERS

- #®
b7 TR 2 AP TR

2 DWW NERL, W N - O WD o0~ " WRN 2O OONDNLEWN=ODmE-] D0 WN

Description

FINISHED HEX NUTS, 18-8 §8, 1/2-13

FINISHED HEX NUTS, 18-8 85, 1/4-20

FINISHED HEX NUTS, 18-8 S8, 3/4-10

FINISHED HEX NUTS, 18-8 SS, 3/8-16

FINISHED HEX NUTS, 18-8 §§, 5/16-18
FINISHED HEX NUTS, 18-8 SS, 5/8-11

FINISHED HEX NUTS, 18-8 S8, 7/16-14

FLAT WASHER, 18-8 SS, USS, 1/2(1-1/40D)
FLAT WASHER, 18-8 S8, USS, 1/4(11/160D)
FLAT WASHER, 18-8 SS, USS, 3/4(1-7/80D)
FLAT WASHER, 18-8 $8, USS, 3/8(1" OD)

FLAT WASHER, 18-8 §S, USS, 5/16(3/40D)

FLAT WASHER, 18-8 S8, USS, 5/8{1-1/20D)
FLAT WASHER, 18-8 88, USS, 7/16 (1-1/80D)
HEX HEAD CAP SCREW, 18-8 §§, 1/2-13 X 1"
HEX HEAD CAP SCREW, 18-8 SS, 5/16-18 X 3/4"
HEX HEAD CAP SCREW, 18-8 SS, 3/8-16 X 2"
HEX HEAD CAP SCREW, 18-8 §§, 1/2-13 X 314"
HEX HEAD CAP SCREW, 18-8 S5, #/2-13 X 1-1/4"
HEX HEAD CAP SCREW, 18-8 SS, 1/2-13 X 1-1/2"
HEX HEAD CAP SCREW, 18-8 SS, 1/2-13 X 2"
HEX HEAD CAP SCREW, 18-8 SS, 1/2-13 X 2-1/2"
HEX HEAD CAP SCREW, 18-8 S§, 1/4-20 X 1"
HEX HEAD CAP SCREW, 18-8 SS, 1/4-20 X 1/2"
HEX HEAD CAP SCREW, 18-8 SS, 1/4-20 X 1-1/4"
HEX HEAD CAP SCREW, 18-8 S8, 1/4-20 X 1-1/2"
HEX HEAD CAP SCREW, 18-8 SS, 1/4-20 X 2"
HEX HEAD CAP SCREW, 16-8 SS, 1/4-20 X 2-1/2"
HEX HEAD CAP SCREW, 18-8 58, 1/4-20 X 3/4"
HEX HEAD CAP SCREW, 18-8 SS, 3/4-10 X 2"
HEX HEAD CAP SCREW, 18-8 SS, 3/4-10 X 2.1/2"
HEX HEAD CAP SCREW, 18-B §8§, 3/4-10 X 3"
HEX HEAD CAP SCREW, 18-8 SS, 3/4-10 X 3-1/2"
HEX HEAD CAP SCREW, 18-8 SS, 3/4-10 X 3-3/4"
HEX HEAD CAP SCREW, 18-8 S8, 3/4-10 X 5-1/2"
HEX HEAD CAP SCREW, 18-8 S8, 3/8-16 X 1"
HEX HEAD CAP SCREW, 18-8 §S, 3/8-16 X 1-1/2"
HEX HEAD CAP SCREW, 18-8 §8, 3/8-16 X 1-1/4"
HEX HEAD CAP SCREW, 18-8 S§, 3/8.16 X 3"
HEX HEAD CAP SCREW, 18-8 SS, 3/8-16 X 3/4"
HEX HEAD CAP SCREW, 18-8 SS, 3/8-16 X 4"
HEX HEAD CAP SCREW, 18.8 58, 5/16-18 X 1"
HEX HEAD CAP SCREW, 18-8 S8, 5/16-18 X 1-1/4"
HEX HEAD CAP SCREW, 18-8 S§, 5/16-18 X 1-1/2"
HEX HEAD CAP SCREW, 18-8 SS, 5/16-18 X 1/2"
HEX HEAD CAP SCREW, 18-8 §S, 5/8-11 X 2"
HEX HEAD CAP SCREW, 18-8 SS, 5/8-11 X 3"
HEX HEAD CAP SCREW, 18-8 S8, 5/8-11 X 1"
HEX HEAD CAP SCREW, 18-8 SS, 5/8-11X1-1/2"
HEX HEAD CAP SCREW, 18-8 SS, 5/8-11X2-1/2"
HEX HEAD CAP SCREW, 18-8 §S, 5/8-11X3-1/2"

LIPS b P B P G G up g b g B

e et e e e T T O e N o N L S N Sy U U Y U U S S WO O W U U NG U W P S ISP P

Quantity Unit Price

s
AD
Vo
e
A
S
P
R X~
LY
.“'f
A
A
e
el
M L
2
Y o
RO
e ). p
e
VA
A
g
30
RS
MO
B
N~
\ g
.9
iy
38%
o2
“H S5
S
KO
NE
85
Y
Vg
O
ey
S
.o
l.€ec
250
150
=Y
l.gs
2.5




BP1102.22

FASTENERS
UNIT PRICE SHEET
I# Description Unit Quantity Unit Price
52 LOCK WASHER, SPLIT, 18-8 SS, MEDIUM, 1/2" EA 1 R L
53 LOCK WASHER, SPLIT, 18-8 SS, MEDIUM, /4" EA 1 A0
54 LOCK WASHER, SPLIT, 18-8 SS, MEDIUM, 3/4" EA 1 e L
55 LOCKWASHER, SPLIT, 18-8 $S, MEDIUM, 3/8" EA 1 s
56 LOCK WASHER, SPLIT, 18-8 S5, MEDIUM, 5/16" EA 1 AS
57 LOCKWASHER, SPLIT, 18-8 SS, MEDIUM, 5/8" EA 1 Y
58 LOCK WASHER, SPLIT, 18-8 S5, MEDIUM, 7/16" EA 1 20
59 THREADED ROD, 18-8 SS, 6' LENGTH, 1"-8 EA 1 LSy
60 THREADED ROD, 18-8 S, 6 LENGTH, 1/2-13 EA 1 {98
61 THREADED ROD, 18-8 SS, 6' LENGTH, 1/4-20 EA 1 .ag<
62 THREADED ROD, 18-8 $S, 6' LENGTH, 3/4-10 EA 1 25,50
63 THREADED ROD, 18-8 $8, 6 LENGTH, 3/8-16 EA 1 \H.s5
64 THREADED RQD, 18-8 88, 6' LENGTH, 5/8-11 EA 1 re<a
65 THREADED ROD, 18-8 SS, 6' LENGTH,5/16-18 EA 1 S5
66 THREADED RQD, 18-8 S8, 6' LENGTH,7/16-14 EA 1 (=
67 RAWL #1101 LAG SHIELD,5/16" LONG EA 1 Rl
68 RAWL #1155 LAG SHIELDS,3/8" LONG EA 1 R 1Y
69 RAWL #2216 HEX HEAD, 8-18 X 3/4" EA 1 %y
70 RAWL #2225 HEX HEAD, 10-16 X3/4" EA 1 A
71 RAWL #2235 SELF-DRILL SCREW, 1/4"X 3/4" EA 1 s
72 RAWL #2237 SELF-DRILLING SCREW,1/4"-14 X 1" EA 1 s
73 RAWL #2369 ZIP-IT KIT, 3/8" X 1" EA 1 e BN
74 RAWL #2523 NYLON NAILIN, 1/4"X1" EA 1 40
75 RAWL #2543 NYLON NAILIN, 1/4"X 1 172" EA 1 Ry Lo
76 RAWL #2700 TAPPER HEX HEAD,3/16"X1-1/4" EA 1 a0
77 RAWL #2704 TAPPER HEX HEAD,3/16"X2-1/4" EA 1 Ny X =)
78 RAWL #2783 DRILL BIT-PERMA-SEAL TAPPER, 5/32"X5-1/2" EA 1 S ag
79 RAWL #2785 TAPPER DRILL BIT, 3/16"X3-1/2" EA 1 gy
80 RAWL #2786 DRILL BIT- PERMA-SEAL TAPPER, 3/16"X4-1/2" EA i o
81 RAWL #2787 DRILL BIT- PERMA-SEAL TAPPER, 3/16"X5-1/2" EA 1 e
82 RAWL #2791 TAPCON INSTALLATION TOOL EA 1 l.as
83 RAWL #5714 ROD COUPLING;3/8-16" X1-1/4" EA i NS
84 RAWL #5718 THREADED ROD COUPLING, 5/8" EA 1 Wiy
B85 RAWL #6304 STEEL DROP-IN, 1/4" EA 1 .20
86 'RAWL #6306 STEEL DROP-IN, 3/8" EA 1 MY
87 RAWL #6307 SETTING TOOL EA 1 s
88 RAWL #5308 STEEL DROP-IN, 1/2" EA 1 oy
89 RAWL #5309 SETTING TOO EA 1 < ey
90 RAWL #7302 STAINLESS STEEL STUD EA 1 Vs
91 RAWL #7304 STAINLESS STEEL STUD EA 1 128
92 RAWL #7310 STAINLESS STEEL STUD EA 1 Ay
93 RAWL #7313 STAINLESS STEEL STUD EA 1 25
94 RAWL #7320 STAINLESS STEEL STUD EA 1 P T
95 RAWL #7323 STAINLESS STEEL STUD EA 1 b A T
96 RAWL #7400 STUD; 1/4" X 1-3/4" EA 1 Mo
97 RAWL #7410 STUD; 3/8" X 2-1/4" EA 1 NS
98 RAWL #7413 STUD, 3/18" X 3" EA 1 . Ba
99 RAWL #7420 STUD; 1/2" X 2-3/4" EA 1 Lo
100 RAWL #7423 STUD; 1/2" X 4-1/2" EA 1 i.8q
101 RAWL #7424 STUD; 1/2" X 5-1/2" EA 1 LY o)
102 RAWL #7432 STUD; 5/8" X 4-1/2" EA 1 2.Y




BP1102-22
FASTENERS

UNIT PRICE SHEET

I#
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
1356
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153

Description

RAWL #7433 STUD; 5/8" X 5"

RAWL #7434 STUD; 5/8" X §"

RAWL #7442 STUD; 3/4" X 5-1/2"

RAWL #7446 STUD; 3/4" X 7"

RAWL #7463 STUD, 1" X 9"

RAWL #8934 BANTAM ANCHOR KIT, #8 X 1"

RAWL #8936 BANTAM ANCHOR KIT, #10 X 1"

RAWL #8938 BANTAM ANCHOR KIT, #12 X 1"

RAWL #9320 HOLLOW SET DROP-IN, 1/4"

RAWL #9330 HOLLOW SET DROP-IN, 5/16"

RAWL #9333 HOLLOW SET TOOL, 5/46"

RAWL #9340 HOLLOW SET DROP-iN, 3/8"

RAWL #9350 HOLLOW SET DROP-IN, 1/2"

COTTER PIN, 1/8"X2", HAMMER-LOCK, C1008 STEEL
COTTER PIN, 3/16"X2", HAMMER-LOCK, C1008 STEEL
ELECTRO ZINC-PLATE THREADED STEEL ROD,1/2-13, 6'
ELECTRO ZINC-PLATE THREADED STEEL ROD,1/4-20, &'
ELECTRO ZINC-PLATE THREADED STEEL ROD,1-1/2-6,6'
ELECTRO ZINC-PLATE THREADED STEEL ROD,1-1/4-7, &'
ELECTRO ZINC-PLATE THREADED STEEL ROD,1-1/8-7, 6'
ELECTRO ZINC-PLATE THREADED STEEL ROD,1-8,6'
ELECTRO ZINC-PLATE THREADED STEEL ROD,3/4-10, 6'
ELECTRO ZINC-PLATE THREADED STEEL ROD,3/8-16, &'
ELECTRO ZINC-PLATE THREADED STEEL RCD,5/16-18,6'
ELECTRO ZINC-PLATE THREADED STEEL RCD,5/8-11, 6'
ELECTRO ZINC-PLATE THREADED STEEL ROD,7/16-14,6'
ELECTRO ZINC-PLATE THREADED STEEL ROD,7/8-9,6'
ELECTRO ZINC-PLATE THREADED STEEL ROD,9/16-12,6'
HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X1"

HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X1-1/2"

HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X1-1/4"

HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X1-3/4"

HEX HEAD CAP SCREW GR 5 Z/P, 1/2"-43X2"

HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X2-1/2"

HEX HEAD CAP SCREW GR 5 Z/P 1/2*-13X3"

HEX HEAD CAP SCREW GR 5§ Z/P 1/2"-13X3-1/2"

HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X3-1/4"

HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X4"

HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X4-1/2"

HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X5"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X1"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X1/2"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X1-1/2"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X 1-1/4"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20%1-3/4"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X2"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X2-1/2"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X3"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X3/4"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X3-1/2"

HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X4"

UBOpp LR R S SRR P U clug us R O G S R

R e e T e R I R e e e e N . D T L™ S W S N N N N N N W N N NPT W N T YU N o U ST P S

Quantity Unit Price

209
2 -0
3.9
Y.
[ .54
W\
\28<
LSS
ESa)Y
L3O
2.0
s
Y
S
o
i~ 20
Y
2 oS
LS
Lo
oo
\S So
NS
oL oy
V& S
o \S
Vo an
n.so
N o
Y
N
A
S Tat
aty
AQ
Lo
LS
\.2o
30
\s5
HAO
O
AS
s
gy I Y
rXa
L0
e by
AO
g-e]
5>y




BP1102-22
FASTENERS

UNIT PRICE SHEET

i#  Description Unit Quantity Unit Price
154 HEX HEAD CAP SCREW GR 5 Z/P,1/4"-28X1" EA 1 T\s
155 HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X2" EA 1 Naly
156 HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X2-1/2" EA 20 ey
157 HEX HEAD CAP SCREW GR 5 2/P,3/4"-10X3" EA 20 Lre
158 HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X3-1/2" EA 20 |
159 HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X3-1/4" EA 1 2 e
160 HEX HEAD CAP SCREW GR 5 Z/P 3/4"-10X4" EA 20 [~
161 HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X4.1/2" EA 1 BT
162 HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X6" EA 1 s
163 HEX HEAD CAP SCREW GR 5§ Z/P,3/8"-16X1" EA 1 O
1864 HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X1-1/2" EA 1 A
185 HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X1-1/4" EA 1 S
166 HEX HEAD CAP SCREW GR 5§ 2/P,3/8"-16X2" EA 1 el
167 HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X2-1/4" EA 1 VL~
168 HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X2-1/2" EA 1 -
169 HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X2-3/4" EA 1 e
170 HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X3" EA 1 Y
171 HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X3-12" EA 1 ASS
172 HEX HEAD CAP SCREW GR 5 Z/P,3/8™-16X3/4" EA 1 s
173 HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X4" EA 1 oy
174 HEX HEAD CAP SCREW GR 5 Z/P 3/8"-16X4-1/2" EA 1 e
175 HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X5-1/2" EA 1 Lo
176 HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18%1" EA 1 A
177 HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X1" EA 1 WS
178 HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X1/2" EA 1 S
179 HEX MEAD CAP SCREW GR 5 Z/P 5/16"-18X1-1/2" EA 1 O
180 HEX HEAD CAP SCREW GR 5 2/P,5/16"-18X1-3/4" EA 1 T
181 HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X2" EA 1 s
182 HEX HEAD CAP SCREW GR § Z/P 5/16"-18X2-1/2" EA 1 C B
183 HEX HEAD CAP SCREW GR 5 2/P,5/16"-18X3" EA 1 RPN
184 HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X3/4" EA 1 Bl
185 HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X3-1/2" EA 1 ANY
186 HEX HEAD CAP SCREW GR § Z/P,5116"-18X4" EA 1 S0
187 HEX HEAD CAP SCREW GR 5 2/P,5/8"-11X1-1/2" EA 1 O
188 HEX HEAD CAP SCREW GR 5 2/P,5/8"-11X1-3/4" EA 1 LI o
189 HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X2" EA 1 Lo,
190 HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X2-1/2" EA 1 (Pt
191 HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X2-3/4" EA 1 Vs
192 HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X3" EA 1 1LSD
193 HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X3-1/2" EA 1 v.as
194 HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X4" EA 1 I
195 HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X4-1/2" EA 1 TS
196 HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X5" EA 1 L
147 HEX HEAD CAP SCREW GR 5 Z/P.5/8"-11X6" EA 1 .o
198 HEX HEAD CAP SCREW GR 5 Z/P,7/16"-14 X 1", EA 1 Ty
{99 HEX HEAD CAP SCREW GR 5 Z/P,7/16"-14X1-1/2" EA 1 M~
200 HEX HEAD CAP SCREW GR 5 Z/P,7/16"-14X1-1/4" EA 1 L o)
201 HEX HEAD CAF SCREW GR 5 Z/P,7/16"-14X1-3/4" EA 1 Ry
202 HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X2-1/2" EA 1 L ey
203 HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X3" EA 1 \.8a
204 HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X3-1/2" EA 1 sl

10




BP1102-22
FASTENERS

UNIT PRICE SHEET

I#
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246
247
248
249
250
251
252
253
254
255

Description

Unit Quantity Unit Price

HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X4"
HEX HEAD CAP SCREW GR § Z/P,7/8"-9X4-1/2"
HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X5"
HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X5-1/2"
HEX HEAD CAP SCREW GR 5 2/P,7/8"-9X6"
HEX HEAD CAP SCREW GR 5 2/P,7/8"-9X7"
HEX HEAD CAF SCREW GR 8 Z/P,1/2"-13X1-1/2"
HEX HEAD CAP SCREW GR 8 Z/P, 3/8"-16X1-1/2"
HEX HEAD CAP SCREW GR 8, Z/P,1/2"-13X2"
HEX HEAD CAP SCREW GR 8, 2/P,5/8"-11X3"
HEX HEAD CAP SCREW GR 8, Z/P,5/8"-11X4"
HEX HEAD LAG SCREW, Z/P, 1/4" X 1-3/4"

HEX HEAD LAG SCREW, Z/F, 1/4" X 2"

HEX HEAD LAG SCREW, Z/P, 1/4" X 3"

HEX HEAD LAG SCREW, Z/P, 1/4" X 4"

HEX HEAD LAG SCREW, Z/P, 3/8" X 3-1/2"

HEX HEAD LAG SCREW, Z/P, 5/16" X 2"

HEX HEAD LAG SCREW, Z/P, 5/16" X 3"

HEX HEAD LAG SCREW, Z/P, 5/18" X 4"

HEX NUT FINISHED FULL,GR 5,2/P,3/8"-24

HEX NUT, FINISHED FULL,GR 2,Z/P,1/4"-20

HEX NUT, FINISHED FULL,GR 2,2/P,3/8"-16

HEX NUT, FINISHED FULL,GR 2,2/P,5/16"-18
HEX NUT, FINISHED FULL,GR 5 Z/P 5/16"-18
HEX NUT, FINISHED FULL,GR 5 2/P,5/16"-24
HEX NUT, FINISHED FULL,GR § Z/P,7/116"-14
HEX NUT, FINISHED FULL,GR 5,Z/P,1/2"-13

HEX NUT, FINISHED FULL,GR 5,Z/P,1-1/4"-7
HEX NUT, FINISHED FULL,GR 5,2/P,3/4"-10

HEX NUT, FINISHED FULL,GR 5,2/P,3/8"-16

HEX NUT, FINISHED FULL,GR 5,2/P,5/8"-11

HEX NUT, FINISHED FULL.GR 5,2/P,7/8"-9

HEX NUT, FINISHED FULL,.GR 5,Z/P1/4"-20

HEX NUT, FINISHED FULL,GR 8,Z/P,1/2"-13

HEX NUT, FINISHED FULL,GR 8,Z/P,1/4"-20

HEX NUT, FINISHED FULL,GR 8,2/P,3/8"-16

HEX NUT, FINISHED FULL,GR 8,2/P,5/16"-18
HEX NUT, FINISHED FULL,GR 8,2/P,7/16"-14
LOCK WASHER, SPLIT, ZICHROM PLATE, 1/2
LOCK WASHER, SPLIT, ZICHROM PLATE, 1/4
LOCK WASHER, SPLIT, 2Z/CHROM PLATE, 3/4
LOCK WASHER, SPLIT, Z/ICHROM PLATE, ¥/8
LOCK WASHER, SPLIT, Z/ICHROM PLATE, 5/16
LOCK WASHER, SPLIT, Z/CHROM PLATE, 5/8
LOCK WASHER, SPLIT, Z/CHROM PLATE, 7/16
LOCK WASHER, SPLIT, ZICHROM PLATE, 7/8
LOCK WASHER, SPLIT, ZICHROM PLATE, 9/16
MACHINE SCREW HEX NUTS, STEEL, Z/P #4-40
MACHINE SCREW HEX NUTS, STEEL, Z/P #6-32
MACHINE SCREW HEX NUTS, STEEL, Z/P #8-32
MACHINE SCREW HEX NUTS, STEEL.Z/P,#10-24

R PR R B G S P G S R R P LS G L I S S S P S

2.0
2w
3wy
ERLY
C oo
S Gy
&S

et e e i e I R I e e e I == B e i T I T R e R R A R . T, L I N ‘U S U T W W W
-

11




BP1102-22

FASTENERS
UNIT ERICE SHEET

i#
256
257
258
259
260
261
282
263
264
265
266
267
268
269
270
27
272
273
274
275
276
277
278
279
280
281
282
283
284
285
286
287
288
289
290
291
292
293
294
205
206
297
298
299
300
301
302
303
304
305
306

Description

MACHINE SCREW HEX NUTS, STEEL,Z/P #10-32
MACHINE SCREW HEX NUTS, STEEL,Z/P #12-24
SAE FLAT WASHER,GR 2,ZINC CHROM PL #6

SAE FLAT WASHER,GR 2.ZINC CHROM PL #8

SAE FLAT WASHER,GR2,Z/CHROM PLATE #10

SAE FLAT WASHER,GR2,Z/CHROM PLATE, 1/2"
SAE FLAT WASHER,GR2,ZICHROM PLATE. 1/4"

SAE FLAT WASHER,GR2,2/CHROM PLATE, 3/8"
SAE FLAT WASHER,GR2,2Z/CHROM PLATE,5/16"
SAE FLAT WASHER,GR2,Z/CHROM PLATE,7/16"
USS FLAT WASHER,GR 2,Z/CHROM PLATE, 1"

USS FLAT WASHER,GR2,Z/\CHROM PLATE #10

USS FLAT WASHER,GR2,Z/JCHROM PLATE, #12

USS FLAT WASHER,GR2,Z/CHROM PLATE, 1/2"
USS FLAT WASHER,GR2,Z/CHROM PLATE,1/4"
USS FLAT WASHER,GR2,Z/ICHROM PLATE,3/4"
USS FLAT WASHER,GR2,Z/CHROM PLATE, 3/8"
USS FLAT WASHER,GR2,Z/CHROM PLATE,5/16"
USS FLAT WASHER,GR2,Z/CHROM PLATE,5/8"
USS FLAT WASHER,GR2,Z/CHROM PLATE,7/16"
USS FLAT WASHER,GR2,Z/CHROM PLATE,7/8"
USS FLAT WASHER,GR2,Z/CHROM PLATE,9/16"
PHILIPS PAN HEAD DRILLER, #10X1/2

PHILIPS PAN HEAD DRILLER, #6X1

PHILIPS PAN HEAD DRILLER, #8X1/2

PHILIPS PAN HEAD DRILLER, #8X1-1/4

PHILIPS PAN HEAD DRILLER, #10X1

PHILIPS PAN HEAD DRILLER, #10X1-1/2

PHILIPS PAN HEAD DRILLER, #8X1-1/2

S8 HEX HEAD BOLT GRADE 304 5/16-18X3/4

S8 HEX HEAD BOLT GRADE 304 5/6-18X1

SS HEX HEAD BOLT GRADE 304 5/16-18X2/21/2

58 HEX HEAD BOLT GRADE 304 3/8-16X3

SS NYLON LOCK NUT 3/8-16

55 FENDER WASHER 18-8 3/8X11/2

ALUMINUM DRIVE RIVET 3/8X1/2

ALUMINUM DRIVE RIVET 5/16X1/2

ZINC PLATED FULL THREAD HEX TAP BOLD GRADE 5 3/8X1
88 FULL THREAD HEX HEAD BOLT 18-83/8-16X3
ZINCPLATED TAP BOLT GRADE 5 FULLY THREADED 5/16
§S FULL THREAD TAP BOLT 18-8 5/15-18X2 1/2

ZC PLD FULL THD TAP BOLT GRS 5/16-18X1 1/2

8S FULL THD HEX HEAD BT 18-89304) 5/16-18x1 1/2
S8 BSH 1/4 NPT X 1/8NPT FEMEAL REDUCING FITTING
55 HEX BSH 3/8 NPT MX 1/4 GR(304)

SS BSJ 1/2 M NPT X 1/4 NPT FEMALE REDUCING FITTING
S5 BSH 1/2 NPT MX 3/8 NPT FEMALE RDG

SS BSH 3/4 M[T ,A;E X 3/8 NPT FEMALE REDUCING FIT
S8 BSH 3/4 NPTX1/2 NPT M/F REDUCING GR (304)
S8 FITTING 1/8 NPT HEX NIPPLE

SS FITTING 1/4 NPT HEX NIPPLE

PSP R S up g g ap b g e g R R

el el el e T T T e N e e e T e S N N S S N oo T N G S T S W S R

Quantity  Unit Price
ey
A0
N9
oY

=LY
AQ
=y
eyl
Favy
O
.ag™
A
i-LQ
NS
ey 3
.
=y
QS
i
A
ANy
rie
O
Sla
.o
S~ o
A0
‘30
A0
iy
N X g
N4
eSS
X~
Ly
1T
LSOy
ba -
= 1»)
ald
B
=D
D
S.ag
G oy
S 9%
Lsg
S.ag
[
=Y
Sy

12




BP1102-22
FASTENERS

UNIT PRICE SHEET

I#
307
308
309
310
311
312
313
314
315
316
317
318
319
320
321
322
323
324
325
326
327
328
329
330
331
332
333
334
335
336
337
338
339
340
34
342
343
344
345
346
347
348
349
350
351
352
353
354
355
356
357

Description

SS FITTING 3/8 NPT HEX NIPPLE

SS FITTING 1/2 NPT HEX NIPPLE

SS FITTING 3/4 NPT HEX NIPPLE

METRIC HEX HEAD CAP SCREW, 10.9, UNC, SMMX12
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 8MMX16
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 8MMX20
METRIC HEX HEAD CAP SCREW, 10.9, UNC, BMMX25
METRIC HEX HEAD CAP SCREW., 10.9, UNC, 8MMX30
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 8MMX40
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 10MMX16
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 10MMX20
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 10MMX25
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 10MMX30
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 1OMMX40
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 10MMX50
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 12MMX20
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 12MMX25
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 12MMX30
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 12MMX40
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 12MMX50
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 12MMX60
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 14MMX30
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 14MMX35
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 14MMX40
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 14MMX50
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 14MMX&0
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 14MMX70
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 16MMX25
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 16MMX30
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 16MMX40
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 16MMX50
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 16MMX60
METRIC HEX HEAD CAP SCREW, 10.9, UNC, 18MMXT70
METRIC STANDARD HEX NUT, CLASS 10, UNC, 8MM
METRIC STANDARD HEX NUT, CLASS 10, UNC, 10MM
METRIC STANDARD HEX NUT, CLASS 10, UNC, 12MM
METRIC STANDARD HEX NUT, CLASS 10, UNC, 14MM
METRIC STANDARD HEX NUT, CLASS 10, UNC, 16MM
METRIC THRU-HARDENED FLAT WASHER, CLASS 10, MM
METRIC THRU-HARDENED FLAT WASHER, CLASS 10, 10MM
METRIC THRU-HARDENED FLAT WASHER, CLASS 10, 12MM
METRIC THRU-HARDENED FLAT WASHER, CLASS 10, 14MM
METRIC THRU-HARDENED FLAT WASHER, CLASS 10, 16MM
METRIC THRU-HARDENED LOCK WASHER, 8MM
METRIC THRU-HARDENED LOCK WASHER, 10MM
METRIC THRU-HARDENED LOCK WASHER, 12MM
METRIC THRU-HARDENED LOCK WASHER, 14MM
METRIC THRU-HARDENED LOCK WASHER, 16MM
METRIC HEX HEAD CAP SCREW, A2, UNC, SS, 8MMX12
METRIC HEX HEAD CAP SCREW, A2, UNC, SS, BMMX16
METRIC HEX HEAD CAP SCREW, AZ, UNC, $S, 8MMX20

AU g o G PR P G BB P B PR S R PR B Bl R R R R

N . T I I S g N N N N N o N N N S AU S G A G S N G G I oy

Quantity Unit Price

Jas
595
WAy

-
™
R X'
s
N1
Mo
By
SSs
A
o
~5
K
NS
e Q
ST
0
DS
=58
ST
e
ety
L = L
Ny
L3N
Aty
Lo
s
L3
AN
e
o
AN
iy
S
NY
A0
R o
3o
10

13




BP1102-22
FASTENERS

UNIT PRICE SHEET

#
358
359
360
361
362
363
364
365
366
387
368
369
370
3n
3r2
373
374
375
376
377
378
379
380
381
ag2
383
384
385
386
387
388
389
390
391
392
383
394
305
386
397
398
399

Description

METRIC HEX HEAD CAP SCREW,
METRIC HEX HEAD CAP SCREW,
METRIC HEX HEAD CAP SCREW,
METRIC HEX HEAD CAP SCREW,
METRIC HEX HEAD CAP SCREW,
METRIC HEX HEAD CAP SCREW,
METRIC HEX HEAD CAP SCREW,
METRIC HEX HEAD CAP SCREW,
METRIC HEX HEAD CAP SCREW,
METRIC HEX HEAD CAP SCREW, UNC, S8, 12MMX20
METRIC HEX HEAD CAP SCREW, A2, UNC, SS, 12MMX25
METRIC HEX HEAD CAP SCREW, A2, UUNC, SS, 12MMX30
METRIC HEX HEAD CAP SCREW, A2, UNC, S5, 12MMX40
METRIC HEX HEAD CAP SCREW, A2, UNC, §S, 12MMX50
METRIC HEX HEAD CAP SCREW, A2, UNC, 8S, 12MMX60
METRIC HEX HEAD CAP SCREW, A2, UNC, SS, 14MMX30
METRIC HEX HEAD CAP SCREW, A2, UNC, §S, 14MMX35
METRIC HEX HEAD CAP SCREW, A2, UNC, §S, 14MMX40
METRIC HEX HEAD CAP SCREW, A2, UNC, S5, 14MMX50
METRIC HEX HEAD CAP SCREW, AZ, UNC, SS, 14MMX60
METRIC HEX HEAD CAP SCREW, A2, UNC, SS, 14MMX70
METRIC HEX HEAD CAP SCREW, A2, UNC, SS, 16MMX25
METRIC HEX HEAD CAP SCREW, A2, UNC, SS, 16MMX30
METRIC HEX HEAD CAP SCREW, A2, UNC, S8, 16MMX40
METRIC HEX HEAD CAP SCREW, A2, UNC, SS, 16MMX50
METRIC HEX HEAD CAP SCREW, A2, UNC, §S, 16MMX60
METRIC HEX HEAD CAP SCREW, A2, UNC, SS, 16MMX70
METRIC STANDARD HEX NUT, CLASS 10, A2, UNC, SS, 8MM
METRIC STANDARD HEX NUT, CLASS 10, A2, UNC, SS, 10MM
METRIC STANDARD HEX NUT, CLASS 10, A2, UNC, $5, 12MM
METRIC STANDARD HEX NUT, CLASS 10, A2, UNC, SS, 14MM
METRIC STANDARD HEX NUT, CLASS 10, A2, UNC, SS, 16MM
METRIC FLAT WASHER, TYPE 18-8, §S, MM

METRIC FLAT WASHER, TYPE 18-8, 85, 10MM

METRIC FLAT WASHER, TYPE 18-8, SS, 12MM

METRIC FLAT WASHER, TYPE 18-8, 85, 14MM

METRIC FLAT WASHER, TYPE 18-8, SS, 16MM

METRIC LOCK WASHER, TYPE 18-8, SS, 8MM

METRIC LOCK WASHER, TYPE 18-8, S, 10MM

METRIC LOCK WASHER, TYPE 18-8, SS, 12MM

METRIC LOCK WASHER, TYPE 18-8, SS, 14MM

METRIC LOCK WASHER, TYPE 18-8, SS, 16MM

UNC, SS, BMMX25
UNC, SS, BMMX30
UNC, S5, 8BMMX40
UNC, SS, 10MMX16
UNC, S5, 10MMX20
UNC, 8S, 10MMX25
UNC, §S, 10MMX30
UNC, §S, 10MMX40
UNC, 8§, 10MMX50

RREBBBRRBERR

PLEASE TRANSFER GRAND TOTAL TO FRONT PROPOSAL PAGE

c
=

t

U U U R S UB S URUB B RSB LS SRR G S R

Quantity Unit Price

TOTAL

T N S N S N N i N . A T e e T T T T e R e e e e e e e e e e e

“O
Nt
S

AN
- 8%

K5 eSS

14




